ACI

AGRI-COVER, INC.

QUICK RELEASE END CAP BRACKET
INSTRUCTIONS

Use these instructions to install quick release end cap brackets. Read and follow these
instructions along with the standard instructions carefully before installing or using tarp
system.

NOTICE TO INSTALLER: Even if familiar with product, read instructions prior to
installation as improvements may be made without notice. Always handle components
with care. If you have questions or problems, call customer service. When done, these
instructions must be given to the consumer.

NOTICE TO CONSUMER: Before using this product, read special instructions. Save
these instructions for future reference.

CACI

AGRI-COVER, INC.

Questions? 800-233-4655
agricover.com




PREPARATION

COMPONENTS TOOLS NEEDED
* (2) Bracket assemblies with hardware * Drill with 5/16” bit
* Angle bracket with hardware * 9/16” and 1/2" Sockets

e 9/16” and 1/2” Wrenches

NOTE: Always mark and drill through center of slotted holes to allow for adjustment.

1: ATTACH FACE OF END CAP

To attach face of end cap to box, perform one of the following:

SIDE MOUNT END CAP

A. Place angle bracket with slotted holes on top of box, centered from side to side with
vertical edge even with box.

B. Use slotted holes in angle bracket as template to mark and drill (2) 5/16” holes into
box, then secure with (2) 3/8” x 1” self-threading bolts.

C. Set end cap on box and center.

D. Drill (4) 5/16” evenly spaced holes through angle bracket and front of end cap then
secure with (4) 3/8” x 1” self-threading bolts.

________________
------
.......
......
_____
. .
~.
~
.

Vertical edge
even with box

Self-threading bolt

Self-threading bolt
—
[ 1

TOP MOUNT END CAP

A. Set end cap on box and center, allowing
face of end cap to overhang edge 1/4”.

B. Use slotted holes in end cap as template
to mark and drill (2) 5/16” holes into box,
then secure with (2) 3/8” x 1” self-threading
bolts.

£ _||e—1/4" Overhang

Self-threading bolt




2: ATTACH BRACKET

A. Tilt inside edge of end cap up 1/4”.

B. Place bracket against inside of box under end cap with slotted holes on each side of
sealing rib and clamp to box.

C. Use holes in lower part of bracket to mark and drill (2) 5/16” holes through box, then
secure with (2) 3/8” x 1”7 self-threading bolts.

NOTE: Ensure inside edge of end cap is tilted up 1/4”.

D. Use center of slotted holes in bracket to mark and drill (2) 5/16” holes through end
cap on each side of sealing rib, then secure with (2) 5/16” x 1” bolts, flat washers, lock
washers and nuts.

E. Repeat Step 2 for bracket assembly on opposite side of end cap.

F. Repeat Steps 1 and 2 for other end cap.

Side view

A

Tilt up 1/4”

Sealing rib

Self-threading bolt

3: REMOVING END CAP

A. Loosen and remove ridge strap.

B. Loosen (2) 3/8” x 1” self-threading bolts
through box rail just enough to allow end cap
to slide out.

Pin removed
C. Unhook (2) bracket pins and remove end

cap.

NOTE: To reattach end cap, reverse Step 3. v
2 /




Product subject to change without notice. 030823 20948_C



